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DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING:
Roadway 16 feet wide. Side Slopes 1 on 1.
For Single Track Embankment.
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Example—If point is 22.6 ft. above grade, how far should it be from center line
to be a slope stake point? Ans. from Table 30.6. For same slopes but other widths
of roadbed, correct above figures by one-half difference in width of roadbed; thus in
example above, for 20 ft.roadbed distance will be 30.6+4(20—16)+2 or 2 ft. added to
30.6 =32.6. For slopes of 1 on 1234 seeinside of back cover. .
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CALCULATION OF EARTHWORK.

HEIGHT
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Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corrections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the
figures opposite width considering the heights from 1 to 9 astenths. Thusifw =16.2 and
h =5.3, cu. yds. =1.484-.028+.089 =1.597 cu.yds. orpractically 160 cu. yds. per 100 it.
If wexceeds 40 £t., use one half and multiply result by 2, if both w and h are large use
one half of each and multiply result by 4. Any cross-section may be divided into
triangles by the followingrule. To the triangle of the sum of the outside cuts (or fills)
=h, and 14 the roadbed =w, add the triangles formed by taking the distance out to each
break in turn ( =w’s) by the difference betwecn the cuts (or fills) on each side of it ( =h's)
always subtracting the outer from the inner.
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DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 1s.
for Single Track Embankment.
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Example—If point is 22.6 {t. above grade, how far should it be from center line to
Le a slope stake point? Ans. from Table 41.9. For same slopes but other widths of
roadbed correct above figures by.one-half difference in width of roadbed; thus in example
above for 20 ft. roadbed distance will be 41.94-(20—16)+2 or 2 ft. added to 41.9 =43.9.
For slopes of 1 on 1 see inside of frout covers
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